— & B T

\A=3%/4 BRI i k| s ek B Bk hE|mek wmA| B R B | ENE
1 ER)IER @REKR) 3—0| 3-=0| 3—0 | 3—1 |4—0| 8 1
2 B S GRERRKR)
3% % st K (REEE)| 0—3 3—0 — 3—1 [2—2| 6 3
4 B B K (fewnro7)| 0—3 0—3 — 3—1 [1—3| 5 4
57 o (& E) | 0—3 3—0 — 3—0 |3—1]| 7 2
6tk 1E AN GHFHETC)| 0—3 1—3 — 0—3 0—4| 4 5
B7my/ Bk el Bm M| EE FRERok EABSL K s B | 4505 | NELT
1 I B e GRERRK)
28N ME @EEX) 3—0 | 3—0 | 3—-0 3—0| 6 1
3EE B GEnrIY) 0—3 —3 | 0—3 0—3]| 3 4
4 FE K 1E A (SUBARU) 0—3 — 0—3 1—2| 4 3
58511 K 1H (Leppon) 0—3 - 3—0 2—1| 5 2
A-1 AR (EURCR) 3
B-2 *ﬁlﬂ j(/fﬁ (Leppon) B
A2 ¥ i (AL L (HUER)
B-1 AN M (R R) :
— % &k 7
i mel A egls 2Rl R B W B A5 | EQE
1 11 E = (Leppon) 3—1 | 3—-0 | 3—-0 3—0| 6 1
2 B B3 (ERMh | 1—3 0—3 | 3—0 1—2| 4 3
3#& X T4 ers7)| 0—3 — 3—1 2—1| 5 2
4/ R HE (BEKKD | 0—3 —3 1 1-3 0—3| 3 4
50 F L £ B F
g = s o s s s B A5 | BN
L8 E = G 3—1 | 3-0| 3—0 3—0| 6 1
24 )l IEE (femnr77)| 1—3 3—1 | 3—1 2—1| 5 2
3R B fil = eoxsad| 0—3 | 1—3 3—1 1—2| 4 3
4 FE R = @omad] 0—3 | 1—3 | 1—3 0—3| 3 4




